TRIEE XBRR ([H558BD)

XHRS | XHA XHRE XH&EHE
ZDih 8H8H | R KX HISELR(EF) 10,000M
Z D1t 8 A9H |2 EX= HIHELRI(OKik) 10,000
Z D1tk 8A9H | 2EXREHIHFEEAFIUEY) 10,000
MIESF 8A 128 | ERRY KEHHL 4,918H
iemE | 8A17A|SISEEZMENBHEITERBITBHRES L 3,910M
REE 8H268 | BSRYIEBFRSZLEHRL 4,400
Nt 43,228M
Rt 509,091
SHI55%8H
\ = % MEF FHEE%E HEmE
ry £E Hum £E #m £FE  uy £EHE
HZAS 0 0 2 9,318/ 0 0 1 3,910

% EF 13 103500 18 126,806 2 20,540, 6 31,316

MR BHNE Z Dk FET
HE BKE |#% £EE O e#n £E 4m X

LZAn 0 0/ 0 0 3 30000 6 43228
2 3 88929 2 68000 7 70,000 51 509,091



